3 7 6
( )-18 -1
()-18
38, 100, 000 343,000 /
1
(1) 37 1 [(9 3 7 2 (6) |l 3 1] 275,000/
(2 3 6 7 (5)
(3
2
(1) 111
()] (
( 50, 100 )
(1)
1:1.5 5m ( )
(2) 20 20 20 20
9 13 120
1.3km (60, 100)
; (1)
(3 (4) +1.0
5 347,000 |/
183,000 /
/
/
(6)
(7)
(8 O = 0.0 +1.0
0.0 +5.0
-47 D) 0.0 +4.0
[ 100.5]| 100 100 [ 101.0] a5 000 ‘%‘8 +g'8
397,000 / 100 |[ 101.0]|[ 115.8]| 100 ’ 0.0 '
(9 0.0 1.0
0.0 +6.0
( )-5 /) 0.0 +15.0
0.0 0.0
[ 100.5]| 100 100 |[ 101.0]
408,000 | 100 |[ 100.0]|[ 120.7]| 100 343,000 8'8 0.0
(10) -1
- (|
342,000 /
-2
(| ]
/
+0.3 |




